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Perimeter of a Rectangle 
 Name:__________________________                                                                                                                          Date:___________________ 

 

 
 

                                         

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 
 

  

 
 

 

 
 

   

 
 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

Find the perimeter of each rectangle? 
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Perimeter= 2(8cm + 7cm) = 30cm 
 

 
 
 

Perimeter= 2(15cm + 2cm) = 34cm 
 

 
 
 

Perimeter= 2(6km + 16km) = 44km 
 

 
 
 

Perimeter= 2(10m + 12m) = 44m 
 

 
 
 

Perimeter= 2(5mm + 16mm) = 42mm 
 

 
 
 

Perimeter= 2(6cm + 3cm) = 18cm 
 

 
 
 

Perimeter= 2(5in + 4in) = 18in 
 

 
 
 

Perimeter= 2(10ft + 17ft) = 54ft 
 

 
 
 

Perimeter= 2(11in + 7in) = 36in 
 Perimeter= 2(13in + 10in) = 46in 

 


